1. ohg el A o] ghe dnteln] aba 2.

2:5=]_]:20

i

v V¥
0
AL
o

e Aol A 2] Fak W] F2 Ze
[ Jx5=2x20

[ ]=8




0.4

1

-

ull




ofe o] B7|LHE moFe gha v
A Wl Solzt 47|
2 AU

i

574

~&B

QEZ WO R 1AM Soj g YA Ho] & B T3}
2k,

I32= 57194yt




=

ohe 5 H0) ghe B, HE Ao R e Ao R X 9 2
al

2A]Q.

KX
=

e A

D 2:7=4:14 @ 2:4=7:14

@ 4:14=2:7 ®7:14=2:4

B

@4:7:2:14

2 4
—2:7=4:14>57:14=2:4

= H|F|Alo] FJHstA] =t
4X14#7%X2




= 24L 5 x GollA yL A FZo] Uro] & m, x, y Afolo] AN
1EA Q.

DO y=3xx @ y=8xx

@ y=8=+x @xxy:24

® xxy=3

~&B

= 24L & x HolA
yL A EZo] o] 2072

x| 1] 234
y|24 |12 8] 6

h2hA x, y Abo] o] BAAL xxy =24




=
—
_z_o
o
_—
7 —
NS
SN—
=
Ko ||
N -
= &
0
IT
L0




QR o] w71 E R AU 10574
st 5 9 o) e

d T
lo o
L)

=
o Mo

>
D= |

U7 1708 SolUBER 14243 +44+546+
9+10 = 55(71) dYct.

o 4
T+8+




D:QG
® 72:1.8=36:] ]

@D:G:E}%:Ql

® 11:13

@ 120:52=30:[ ]

=18

—




8

D 1x1x3.14x2.5="7.85(cm?)
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